| dE/dx estimator 1 |

0.25F
0.2~
0.15F

0.1

0.05

..................

..................

.................

.................

Entries
Mean

461224
2.928
1.166

Std Dev

........................

Entries
Mean
Std Dev

461224
2.928

..................................................

................................................

................................................

Ratio

=
TT T T T T 1T

0.95

o

dE/dx, harm?2

| dE/dx estimator 2 |

0.3

0.25

0.2

0.15

o
"

o

o

a
|

...............

Entries
Mean

461224
2.751
1.162

Std Dev

Entries
Mean

Std Dev

461224
2751
1.162

......................................................

LN B L

dE/dx, trunc40

—— DQM_CKF

-~ TT_baseT125_noSel

—=— DQM_CKF_TT_base_noSel

0.06f
0.04

0.02}-

.....................................................................

CTTaTeS
Mean
Std Dev

FOIZZH
8.097
5.544

Entries
Mean
Std Dev

461224
8.097
5.544

T T F =T T T

Ratio

LL

luuuiullllllll”

ln

k-

0.9

]IIII]I!IIIII[[]]||‘

°0

10 20 30 40 50 60 70 80

dE/dx number of measurements

0.2}

0.1

o+

Rati

0.53
0.44

0.3

CTIaTeS
Mean
Std Dev

0.7486

461224
0.4254

Entries
Mean

461224

Std Dev

......................................................................

k-

0.95

A

0
dE/dx number of measurements with saturation

10 20 30 40 50 60 70 80




	Contents
	Page 1


